HCLS Algorithm Limits for Study A

ARCTIC SLOPE TEL

Regression Coefficients Calculated by FCC

Input Variables Used by FCC

613001

intoops
LnRoadMiles
LnRoadCrossings
LnStateSACs
PctUndepPlant
LnBensity
LnExchanges
PctBedrock36
Difficulty
Climate
PctTriballand
PetParkland
PetUrban
Alaska
Midwest
Noriheast
Constant

Natural Log of Input
7.896552702
5.12455904
5.476463552

0

-4.268323991
2.079441542

Represents the naturzl logarithm of the capped

Calculated as the anti-log of the sum above (i.e.

Input Value
LnLoops 2688.00000C000
‘knRkoadMiles: 168400000000
knRusdCrossings Koo e (a1t 00641880 8]
LnStateSACS 1.000000000
PetUndepPlant 23.876503415
LnDensity 0.014C05236
inExchanges “B:000000000
PctBedrock36 (.011886037
Difficulty 1.000000000
Climater #1#:830430000
“PetTribakand 10000000006
PctParkLand 0.014892744
PctUrban 0.316789863
Alaska 1.000000000
Midwest 0.000C00000
Mortheast 0.000000000
Constant
Sum
input.
90% CPL Limits
e™m).
90% CPL Limits per Loop

“input study area code here

Capex Regression Opex Regrassion

0.787826850 0.595783196
0.207976536 -0.24703265%
0.240438044 0.272338476
-0.070154056 -0.077754693
0.030693902 0.007662732
-0.157827775 0127573662
0.117752342 0.125006159
-0.072407358 0.278876747
0.118375909 0.114061749
0.088635029 0.135123717
0.000477232 0.001936722
0.017591819 0.006420464
0.000580891 0.002481389
-0.622327134 0.298866065
0.091752520 0.133799164
-0.308024453 0.014540174
6.038979612 8.198078595

Praduct of Input (or natural log i included) and
corresponding coefficient, above.

6221116319 4.704633402
-1.06578804 -1.265933446
1.316750182 1.491451736
o] 0
0.732863064 0.182959245
0.673660079 0.544525722
0.244859112 0.259943001
-0.000860637 0.003314739
0.118375909 0.114061749
1.048590505 1.598571673
0.04772318 0.193672196
0.00026199 9.561838-05
0.000184021 0.000786079
-0.622327134 0.298865065
0 0
Q 0
6.038979612 8198078695
14.75438816 16.32502647
$2,557,109.72 $12,298,974.89

Capex Regression Opex Regression

$951.31
N

$4,575.51
'




